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.

Maximum Marks : I"00Time l LZ to 2.00

qEl?lT:

Instructions:

1. yn$ ffi qTkfr gflq erenid tnr.
FiIl in every information asked.for.

2. vd ss *sdr.
Attempt all questions.

B. v$-s e$rqrd qri-d q-mmr ftrdr.
Write explanation in the blank space below each question.

4. $idn mrqT€rdi r+s esrqrd fradr GTrrrT qFRT.

Use the blank space provided below each questions for rough work:

5. \rqrffr esri frR-A-A wt {q qs.{ sri sir(;wfi liiror+qri erfr€ d'{ t
tqeqT qtJqT qFilcR dt sgr€IT m-qifig6 ftrdra.
If you want to rewrite the solution of a question cancelling the

_ _ :':':1 :Ti :l:':yi::"_
.$ qrq ,

3TTSqET ilET qetd;rH

qn-&A rrq :
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Q.l tqflq{ 13 iluqi* qisuft 3nft ffi snt, fi qF,t *fid dq qruft qyr ErRT # irqn ttr€. fl 5

qisufr g.ds srrfldr q,r(r Ers{r.
Draw a neat diagram showing the arrangement of 13 coins placed on a table such
that there arc l2lines, each line containing 3 coins.

Rough Work z€ qn



X

L54 168

t7t
150

169 22L

270

L44

Q.2 frdet gq-rfiR-qrrunn fiftqlq wr. fl snuft 9 qrq{ 19
Tdilqr dqr erqsq rfl-{ ard ent. ett" wq *iral
Aq nar qrswft s{rt. qt dwr ; q1 fu6rq1 s{rsarT
sTrFr sqr sffiil *q **'Aqd fu6r.
Observe the given multiplication table. It is
prepared using numbers from 9 to L9. OnIy one
of the numbe,rs is used twice. FilI in the
numbers in the row and column containing the
'x'sign.

b

Rough Work ZH qrc



Q.s 27s3266 idftq M Ar oisiqr Kqrq fr f*,il6 {F ft{frd at tqr ridcr z I qn qrd.
nriqtq sisffi?
If I place any number of zeros between certain two digits of the number 2793266, the
resulting number is divisible by ?. Find the two digits.

4

Rough Wdrk rH o,rq
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bI e.4

I

I

I

ffi ftd@r {rrufta frftq{q;n'{r enfrr tr*.rqr ffid
zipu dwr 661.

Observe the adjacent table and fill up the
correct number in the open box.

35 40 45 51

T4 24 36

7 8 9 10

Rough Work,H q.rq
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a@b =rysq1-flunef; Forexample; 8 @2=8x2!7x2
O

Er s{si €qfl?T +Fq qrcfd {r{nRT frt qq En.

considering the meaning simplift the folowing expression.

[{tuoB)-(+oz)}+oor]

Rough Work zH q.rq



Q.0 A, B, C, D, E, F sTrFr Gt vra fiRsrS qla, fi eifrm +1"rt$ d" Cqw,ttq{ 3rsunr rtrd. 4

t {d ft-(\'*.f*.iqr ffi qrffid qqT ffitqr€is ffio, t arer.

Draw points A, B, C, D, E, F and G in such a way that no three of them will lie on a
line. Find the maximum number of segments joining these points to each other.

Rough Work H qrc
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Q.? L29o579 sfiFr esgz +tzqirqt {uns.Krfq xRrr*e[FtsT f{ {il?Tr.' 
Find the digit in hundred.'s place in the prod,uct of 12905?9 and 88g24L2

o

Rough \Mork z?d orq
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8, 9, 10 qr ftr;S i@i* rrrr qr{d sT{ft Fqfd d6H q{ {i@r ffi? (fr {wr fr+ qqn 3rtrqiqr

gunfiR 3[qe, frflrr{iwrE6u6rd. sqr. b12 = 8 x 8 x 8. r6ugr 512 6qqi:@T sni.)

Find the smallest cube divisible by 8, 9 and 10. [A number, which is the product of

three equal factors, is called a cube. e.g.512= 8 x 8 x 8. Therefore 512 is a cube]

o
Q.8

Rough'Work F q'rc
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ffi Vqr qisufid sra rSA q,rdfr s{rtfr. y+s qd-dril qs, rnsqrfr r i z qr
*irsr e{flr ftr6r, fi y+s sffiftm iwi* afu €Kd +$m.
qfiffid qrm ffi yfirt ffi qis"ft q,cm itct
11 the above figure, seven circles are drawn to form a v shape.
write numbers from L to 7 in the circles in such a way, that ihe
sum on each arm of V will be equal.

6

In how many more ways can the arrangement by made2^

Rough Work,H e,rq
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Q.10 1 A B ffid x[wmT{1qT 
gff6rurrd A, B, C, D, E, F qiq.f qFft 2, 3, 4,5, 6, 8 5

x C e qitftq rrim e4*. rfr* eiq lse qft ftq.{q qFKfrr e+rt. at e{{riqr qr'fr,+rq

TDE F :lisfufliWtm.a.
In the multiplication sum above, letters A, B, C, D, E and F are used for digits 2,3, 4,

b, 6 and 8. Each of the digits is used. only once. Replace the letters by proper digits

and rewrite the sum.

Rough Work /*-q^ q,q
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Q.rr l n { qq-g ,r l* uun ercftfi +am *e qr $crr.tnf r5q-g ntm+e erg6n#":::
lT-,"Hffi#ffiEH=sl)
B1+145t_16s1+Jfset.l,
JnJmeai
I n t meanillh: 

greatest prime number < n.

[e.g. J gs ,, ,t 
the ]east prime number > Bb.

< Bb = BU 
neans, greatestprime

o

Consideringthe r?r€enin_- r__ r .,
81 + { 4s 1," - , J;':t:T'#i the value orthe rorrowing expression.

Rough Work zh* qrq

1I



---.+iil:@!q

e.lz 2000 eTrFr sooo qiq*m eiurcqr qiresi;n' 21, zg eTrFr gr qr ffi {wifi ft:iq lTrrr qr$qr 6

Which numbers between 2000 and 3000 are exactly divisibleby 21,28 and 35?

Rough Work zH *'rq

L2
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Q 13. W1tfrr$qrEr{qr**Wtm.o. z
Complete the adjacent magic square of addition

I
15

1

3

1

b

2

15

Rough Wo.rk /od qrq 
l

13



I

e.14 1 qrqr 9 qffi sis yffi q{qrq Erqw wr {a ri@r rqn 6n snFr iqi* ifro qtr. 6

Using digits from 1 to 9; each only once; write six prime numbers and find their sum.

Rough'Work ,H q,q

t4
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Q.15 q*,r Effi (frkrtqr) M eifr zr *fr, tfr 60 tfr sTrFr iid 30 *fi qrt. iqrqr v4 6

m-siil tv ilq{ sr v< atu-flvrd mfrd +.fr ffi mzt sifqr tq vriet
The length, breadth and height of a rectangular box are 75 cm, 60 cm and. 30 cm
respectively. Find minimum length of tape, in metre, required to seal the edges of
the box.

Rough Work 7rd ure

15
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Q.16 qq7 rtfr os6**csri, +{fiEFR 33 gsgind; mdr Bs *wiqrqflftffi*+Aqfrrfinfof 7

If a square of side 7 cm is cut into 33 square pieces, what will be the sum of perimeters
ofall the 33 squares?

Rough Work rH qrq

L6
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Q.1z g{ qTrnr$, frSqr qn qiq 10 i6qrd sffi enFr ooo ftr vifiqr W 40 ft*ffi 7

ffi. dr sTrrFn*S difr ffi? frqr A'r ffi ffi K ins sTrt?

A train crosses an electric pole in 10 sec. and a 600 metre long bridge in 40
sec. How much long is the train? How many km per hour is its speed?

Rough Work lod u,n

L7



e.18 987654s2198?6b4821... S qs 900 sifi i@r sG. Tr

1) qr <idfte vd ai6i6 ifrq ftrfr?
2) qr ddfrq e1wqr qT{A 6ffi eiq mrA e,,rdd 3ftrfiT, {rRfrtrr *+ gi*id itq aaoo tie i
3) eim qrcmr* idftd frd-qr siq elurari

98765432L987654321... is a 900 digit number.
1) What is the sum of aII digits in the number?

2) Which successive digits and from which side should be removed so that the sum
of all remaining digits will be 4400?

3) Which witl be the last digit in the number obtained. after removing the digits?

8

Rough W6rk lm'd qTc

L8
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